Unif: Linear Equations Name
Student Handout 1 Date Pd

SIMPLIF YING EXPRESSIONS

Mrs. Thornberry wrofe three examples of expressions on the board as shown. Using the
examples, write your prediction of what makes something a mathematical expression in the space
below her examples.

T

. » A mathematical phrase that can contain )
EXPRESSION : and (like addition and subtraction).
I« Will not have an sign.
: * Afermis aconsfant or a in an expression. :
TERM :
: » Separated by and signs.

LII(E TEPMS * Must have bofh the same base (or ) and the same
. exponent (or ).

Use the definitions above to help you complefe the following.

1. Give an example of an 2. List all the terms in the 3. List the coefficienfs in the
expression with four ferms. expression below. expression below.
6x — 10y + 18 + 5z 4x —7x + 1-2x

4. Give an example of a like term for each of the following:

a. T4y b. -9b c. 200 d. h?

5. Circle the lefter of any card that gives an example of like ferms.

A P. C. D. E.

=¢c and -9¢ 22nand 2.2 6y and 6x 5d2 and d2 30 and -25
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-« We can simplify algebraic expressions by combining
SIMPLIFYING :

. * Be careful when you are combining ferms to check the
EXPRESSIONS i that is in front of the term.

* Use the given variables fo write an expression
representing the individual ifems purchased:

« Simplify the expression by combining like ferms.

In 6-11, simplify each expression by combining like ferms.

6. 7. 8.

13r + 5r + 2n -k + 16 — 12k 7m + 19g — 10m + 69

q. 10. 1

-18.7b + 4b - 0.3b %b—Q+8b—7—b+14 -1.2k + 10.9 — g + 0.5g + 0.3k

Apply your knowledge of simplifying expressions to answer each of the following.

12. Simplify an expression for the perimefer of | 13. Darci simplified the expression as shown
the rectangle.

below. Explain Darci’s mistake and give the
17.4x —0.8 cm correct simplified expression.
6x cm lm+8+lm+n—4n
3 3
B%m —3n

Perimeter:

Summarize today’s lesson:
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Unif: Linear Equations Name
Homework 1 Date o

SIMPLIF YING EXPRESSIONS

Matfch each expression with the correct simplified expression. Use the corresponding leffer with
each solution fo help you solve the riddle.

4

4x —2x —20x + X i ~;+$x—14x+7

7 —Adx — 15 + 12x -2.4x + 3.8x — X

5 e

-0.8x + 40 —8x — 35 F 12§x—14x+ 1

S3X + 14 =11+ 11x 3.75x =5 -8.75x + 4.5+ 0.5

A: -5x E: -88x+5 O: 3x-8 L: O.4x G: -x W: 8x+ 3
R: -17x B: -1324 M: -8x u- -2, D: -1314 N: -5.5x
' 7 6 ' 7

WHAT IS A BIRD'S FAVORITE SUBJECT?

3 7 4 6 5 2 1 8
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